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Instructions-
(i)
(ii)
(iii)
(iv)
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W #.1 @ 797 & 5 9% aegive gvT &)

T 7.6 ¥ T BB 23 0% FAB 4 orile Raeq 7 w2 &)

All the questions are compulsory.
Marks allotted for the questions are mentioned against them.
Question no 1 to question no. 5 are objective type questions.

Internal choice has been provided in each question from question no.
6 to question no. 23.
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(1X6=6)
51 W feew gy -

() TG {} & Swwemt @ v o -

@ 1 (b) 2
(©) 3 (d) 0
() 3 A3 B2 e &t AxB =B xAaf 3R aaat af —
(@) AcB (b) BCA
() A=B (d) AoB
(ii)) 3 - 4i &1 Fgh & -
(@) -3+4i (b) 3-4i
- (¢) 3+4i (d) -3-4i

(iv) "P,® AN @ -
(@ o (b) 1
() 2 (@, n!
(v) a5 (3 -25 Y 16T & 8 & -

(ap V13 (b) V34

(©) V29 @ VB
(vi) lim ,:__:n . &t neN &1 7 & -

(@ na"" B (-1)

© @
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Choose the correct option -
(i)  Total number of sub set of set{ } is -
(@) 1 (b) 2
() 3 (d) O
(i) If A and B are two sets, then Ax B =B x Aif and only if -
(@) AcB (b) BCA
(c) A=B (d) AoB
(ili) The conjugate of 3 - 4i s -
(@) -3 +4i (b) 3-4i
(c) 3+4i (d) -3-4i
(iv) The value of "P,is -
(@ O (b) 1
() 2 (d) n!

(v) The distance of a point (3, - 2, 5) from y axis is -

(a) V13 (b) V34
(c) V29 (d) V8
(vi) The value of lim x::a:" , where neN is -
(a) na"' (b) (n-1)
© = @ =
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9.2

Re vt 1 off iy -

() ax+by<cys Haw N

...........................

..........

(iv) "Co+"Ci+ "Cot.e+"Cy =
(v) =@ R Bl Al ok | IR T BT 2
(vi) AR y=x+3x+3x+18 A x=0w L= am |

(vii) X P(A) T A B TIRIGET 2, A P(A) + P(A) = oo

Fill in the blanks -

(i) ax+by<cisalinear..............

(i) W(@a+1,b-2)=(3 1), thena= ... andb=......

(iii) The multiplicative inverse of =118 ovvmmnens

(iv) "Cp+ "Cy+"Cp+.nt Cp =i

(v) Two lines will be parallel if and only if slope of those line is
dy

(\”) "}‘=X3+3X2+3x+1.thena‘x=0dx_ ................

-
(vii) If P(A) is probability of event A, then P(A) + P(A)

e ——
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53 W S e - (1xe=s6)

W (A) w4 (B)
() 2sinA cosA (@) AUBL
(i) 1-2sin2A (b) A'NB
(i f_:::;; (c) cos2A
(iv) 3 sinA -4 sin’A (d) sin3A Y
v) AnBy (e) cos3A
(vi) (AUBYy (f) sin2A
(g) tan2A ™
Match the following -
Column (A) Column (B)
() 2 sinA cosA (a) AUB
(i) 1-2sin?A (b) A'NPB
(iii) i:::?A (c) cos2A
(iv) 3 sinA -4 sin3A (d) sin3A
(v) (ANB) (e) cos3A
(vi) (AUBY (f) sin2A
(@) tan2A
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@ 9 7 ara ¥ SR QAR - (1x7=7)

Va4
() aft @B sl I IR 121 2, ) o sffeel 1 @ EE
grTT?
(i wﬁaﬁﬁmﬂmmwélmﬂﬂ&w'
(i) zx e  y Fdaia a1 A o 8rT?
(v) faug wia @ (a - by @1 R farw|
(v) 41-3! = e
(vi) Trfr?l?"3‘1111’ra,::1r,ar2 .................. &7 ndfl 7% farag |
(vii) lim == T 1 farfag |
Write the answer in one word or one sentence -
() Variance of a data is 121, then what is the standard deviation of
the data?
(i) One cain are tossed at three times, write the sample space.
(i) What is the value of y coordinate on the zx plane?
(iv) By using binomial theorem, write down the expansion of the
(a-b)".
(v) Write the value of 4! - 3!
(vij Writethe n"termof G. P. a, ar,ar® ..........
(viiy Write the value of lim e
11022 [123-03-B)
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s

e /g ffeo

() Axp=A

(i) a1 wfds wema & Amee te afay den aid 8

(i) afe x v& grger wewn B, @ 30x < 200 F &4 H+qqd [1,5] 21

el

(iv) Y@ 2x-3y+5=0® e —

L M

(v) fa<g (7,0,3) 1 xoag 4 g0 7 2|

(vi) WerH 9 WTHa Tt &1 qRA 5 7 |

Write true or false -

(i) Ax¢=A

(i) The sum of two complex number is a complex number.

(iii) If x is a natural number, then solution of 30x « 200 is interval
[1.5]

(iv) The slope of line2x -3y + 5=01s

(v) The distance of point (7,0,3) from x axis 15 /

(vi) The mean of tirst 9 natural number s 5.
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ue

97
S

wed f(X) = %Wﬁmaﬂml

Find the domain of function -

x2+x+1
= e ——————————
f(x) x2-8x+12

aerar/OR

ﬂﬁf(x}=x2ﬁ.ﬁ%z—(;-)$lﬂﬁ§nﬂ'aﬁmi

It f(x) = %2, then find the value of ._——-——f(::::i?) ,

fig P 5 -

cos9x—cos5x _ _Sin2x
sin17x—sin3x  cos 10x

Prove that -

cos 9x—cos5x _ _Sin2x
sin17x—sin3x  cos10x

arear/OR

uﬁﬂqﬁ%aﬁaﬁm@mﬁﬁdﬁ&ﬁqv?wmsm-ﬂm

mg,mmmwwmw.

It in two circles, arcs of same length subtend angles 75° and 60° at th
e

centre, then find the ratio of their radii.
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1%

tmfo ALLAHABAD 71 @ 38T & 449 @1l shHeran o) el st e |

1+j—_:ﬁa+lb$ﬁqﬁmaaa§’rﬁm|

Express the following in the form of a + ib.

5+ v2i
1-v2i

)

Jar/OR
HHIPROT 2% + X + 1 = 0 DY &1 BT |
Solve the equation 2x2 + x + 1 = 0.
X & aRafdd qFT @ forg arfiaT 3x — 7 > 5x — 1 B &l BT |
Solve the inequalities 3x — 7 > 5x — 1 for real x.
Jar/OR
5x — 3 < 7 &I & PIfIIY, W9 —
(i) xU qUis 8
(i) x v& arafds @& @
Solve 5x - 3 < 7, when -

(i) xis aninteger

(i) xis areal number

Find the number of perhutations of the letter of the word ALLAHABAD.
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ser@r/OR
afe "Cq = "Cq. 71 "Cyy BT A 1T DI |
If "Cq = "Cq, then find the value of "C,;.
L (x4 1) @ wew s @i @)
Expand the (x + i)ﬁ .
Juar/OR
feus uvg & (98)5 &1 7F o PR
Compute (98)° by using binomial theorem.

9.12 mmy2=12x$wﬁ$ﬁéwwmmmﬂﬁaﬂmamaﬁm| ()

Find the coordinates of the focus and the equation of directrix of

parabola y? = 12x.

dYyar/ OR

tﬁﬁqagx2+16y2=144$a§qwaaaﬁ?mﬁﬁwa ST @ wTE S
BT |

Find the length of Major axis and the length of the latys rectum of the

ellipse 9x2 , 16y° = 144
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g e B [ A(1, 2, 3), B(-1, -2, -1), C(2, 3, 2) 3ik D(@, 7, 6) T&
TR TP B A 3 | @)
Show that the point A(1, 2, 3), B(-1, -2, -1), C(2, 3, 2) and D(4, 7, 6)
are the vertices of a parallelogram.
suar/OR
gl & fg (-2, 3, 5), (1, 2, 3) iR (7, 0, -1) W |

Show that the points (-2, 3, 5), (1, 2, 3) and (7, 0, -1) are collinear.

w14, lim I_C:”“ & T A | @)
Evaluate lim =5
x—0 X
erar / OR
4_
lim X=2%¢ 1 9 @ |

x—4 X—4

x1-256
x-4

Evaluate lim
Xx—4

w.1s/q% P(A) = % 3R P(B) = .;. 7d AR B iRER gasfi vedt & o P(AUB)

ST PR | @

If P(A) = 3and P(B) = 1 . A and B are mutually exclusive event, then

find P(AUB).

e
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Jrerar/ OR
3 goN 9 21 ol @ w4 A Q) afwal B e wfif BT S
8| Wi @ @ 6 fdw affy § -
(i) 3¢ go9 7 g
(i) TF oy @
A committee of two person is selected from two men and two women.
What is the probability that the committee will have -
(i) noman?. |
(i) one man?
400 =fdal & w9 d, 250 = TJom 200 srh S ¥ fray il
fe=dt 3R sfieh ST Qe &2
In a group of 400 people, 250 can speak Hindi and 200 can speak
English. How many people can speak both Hindi and English?
F¥ar/OR
M U={1,2,3,4,5),A=(2,3)},B = {4, 5), @ (AUB)’ T A~ B &

T Hifam |

U ={1,2 34,5}, A={2 3}, B = {4, 5, then find the value of (AuBY'

and A-B.
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3 PhH an
w17 PR TR T R B @y = 1 @ = ans + 2 9 022, A
: $HWWWWWWWMW| ®)
Find the fi '
ISt five terms of the sequence given by a; = 1 and

an = an1 + 2, :
n Where n > 2 ang write correspondence series.
3ar/OR
99 HHRR ' it
Mﬁnﬁwmmﬁmmkmwsmﬁl

Find the sum of n terms of A.P. whose k" term is 5k + 1.

(3

X+1

I8 f(x) = — &1 a@werat g g

Find the derivative of f(x) = **!

ayar /OR
sin x @7 YA Rigid | sadford Bifo |

Find the derivative of sin x by first principle.
919 A T sifeel &1 MEEd g Aed fAEe s Sty — (3)

3,953, 12,10,18,4,7,19, 21

Find the mean deviation about the median for the following data -

3,95 3,12,10,18,4,7, 19, 21
Jerar/OR
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2 | 5|6[|8]107] 12

Find the mean dewiiaTtion about the mean for the following data -

x| 2| 5[6[8]10] 12

| 2|8|10]7| 8 | 5

[
920 fug #fow 5 — cos 4x = 1 ~ 8 sin®x cos®x

cos 4x = 1 — 8 sin®x cos?x

Jerar/OR

Prove that -

g #ifog & -

sin X + sin3x + sindx + sin7x = 4 cos X cos2x Sindx

Prove the following —
sin X + Sin3x + SiN5X + siN7x = 4 COS X C0S2X Sindx

321 fx (x + iy)s = a+ib, @ Rig AR 5 —

A

+ L=4(®-b%)

o | w

If (x + iy)'1 = a + ib, then prove that -

Ly l-4@ b?)
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g.22

N.23

g /OR
IR 2, B o frg AT & -

) Re (z2) — Im (z1) Im (22)

Mﬁﬂﬁﬂw\‘mz
Re (21 25) = Rg (2,

For any two
Y IWO complex Number z, and zz prove that -

Re (21 22) < Re (2)) Re (22) ~ Im (1) Im (22)
aﬁmﬂﬂw’ﬁvﬁa‘,qmpqﬁwmﬂ, werd q Ot @ AT P AT

€, M W P+ q el # dree g A

If the sum of first p terms of A.P. is equal to the sum of first q terms,
then find the sum of first (p + q) terms.

Jyar/OR
% gYS B Q1 BT PN BT o 5° ¥ ARk I BreT P 120° 8, A
age B YTl F W@ s A
The interior angles of a polygon are in A.P. the smallest angle is 120°

and the common difference is 5°, then find the number of sides of the

polygon.
uﬁpwﬁ@ﬁwmwm@mﬁmﬁmwaﬁw

ﬂ?@ﬁ:@%asﬁ?bﬁ,ﬂﬁ@iﬂﬁﬁ—

1_ +I
2_32 b2

It P is the length of perpendicular fro

o

m the origin to the line whose

intercepts on the axes are a and b. then show that -

1 1 + i
p? T a2 pf
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Juar/OR
m%mam+b1y+c|=03ﬂv agx+b2y+02=0,ﬁl‘€fbn02¢0

() "R @ gfy -
as bs

(ii) Eﬂ‘ﬂ?uﬁa1az+b1b2:0

Show that two lines aix + bry + ¢y = 0 and ax + b2y + c2 = 0,

where by, b # 0 are —
(i) Parallelif 2 = 2 anqd
do b>

(i) Perpendicular if a; az + by bp = 0
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